THE VILLAGE OF TINLEY PARK

Cook County, Illinois Will County, Illinois

RESOLUTION NO. 2022-R-001

A RESOLUTION APPROVING THE PURCHASE OF POLICE IN-VEHICLE PRINTERS FROM CDS OFFICE TECHNOLOGIES IN THE AMOUNT OF \$54,892.50

MICHAEL W. GLOTZ, PRESIDENT KRISTIN A. THIRION, VILLAGE CLERK

WILLIAM P. BRADY
WILLIAM A. BRENNAN
DIANE M. GALANTE
DENNIS P. MAHONEY
MICHAEL G. MUELLER
COLLEEN M. SULLIVAN
Board of Trustees

Published in pamphlet form by authority of the President and Board of Trustees of the Village of Tinley Park

RESOLUTION NO. 2022-R-001

A RESOLUTION APPROVING THE PURCHASE OF POLICE IN-VEHICLE PRINTERS FROM CDS OFFICE TECHNOLOGIES IN THE AMOUNT OF \$54,892.50

WHEREAS, the Village of Tinley Park, Cook and Will Counties, Illinois, is a Home Rule Unit pursuant to the Illinois Constitution of 1970; and

WHEREAS, the Corporate Authorities of the Village of Tinley Park, Cook and Will Counties, Illinois, have considered a quote with CDS Office Technologies, a true and correct copy of such Contract being attached hereto and made a part hereof as **EXHIBIT 1**; and

WHEREAS, the Corporate Authorities of the Village of Tinley Park, Cook and Will Counties, Illinois, have determined that it is in the best interests of said Village of Tinley Park that said Contract be entered into by the Village of Tinley Park;

NOW, THEREFORE, Be It Resolved by the President and Board of Trustees of the Village of Tinley Park, Cook and Will Counties, Illinois, as follows:

Section 1: The Preambles hereto are hereby made a part of, and operative provisions of, this Resolution as fully as if completely repeated at length herein.

<u>Section 2</u>: That this President and Board of Trustees of the Village of Tinley Park hereby find that it is in the best interests of the Village of Tinley Park and its residents that the aforesaid "Contract" be entered into and executed by said Village of Tinley Park, with said Contract to be substantially in the form attached hereto and made a part hereof as **EXHIBIT 1**.

<u>Section 3</u>: That the President and Clerk of the Village of Tinley Park, Cook and Will Counties, Illinois are hereby authorized to execute for and on behalf of said Village of Tinley Park the aforesaid Contract.

Section 4: That this Resolution shall take effect from and after its adoption and approval.

ADOPTED this 4th day of January, 2022, by the Corporate Authorities of the Village of Tinley Park on a roll call vote as follows:

AYES: Brady, Brennan, Galante, Mahoney, Mueller, Sullivan

NAYS: None

ABSENT: None

APPROVED this 4th day of January, 2022, by the President of the Village of Tinley Park.

Village President

Vivagraerk

EXHIBIT 1



CDS Office Technologies 1271 HAMILTON PARKWAY Itasca, Illinois 60143 United States (P) 630-625-4519 (F) 630-305-9876 Quotation (Open)

Date

Dec 14, 2021 05:19 PM CST

Modified Date

Dec 15, 2021 04:32 PM CST

Quote #

493230 - rev 1 of 1

Description

65 x RJ4250WBL Brother RuggedJet printers

SalesRep

Gottlieb, Mark (P) 630-625-4519 (F) 630-305-9876

Customer Contact

Persha, Darren dpersh@tinleypark.org

Customer

Tinley Park Police Department (21674) Persha, Darren 7850 W. 183rd Street Tinley Park, IL 60477 United States (P) (708)444-5334 **Bill To**

Tinley Park Police Department Accounts, Payable 7850 W. 183rd Street Tinley Park, IL 60477 United States Ship To

Village of Tinley Park Persha, Darren 7850 W. 183rd Street Tinley Park, IL 60477 United States (P) 708-4444-5334 dpersha@tinleypark.org

Customer PO:

Special Instructions:

Terms:

Undefined

Ship Via:

Best Way

Carrier Account #:

 **	Description	Part#	Qty	Unit Price	Total
	Brother RJ4230 4" Rugged Printer				
1	Ultra-Rugged 4" Mobile Direct Thermal Printer w/ Battery, Belt Clip, USB, WiFi, BT4.2LE, Apple® MFi, NFC Includes: 2 Year Premier Warranty, Li-Ion Battery, Doc Set, Roll Holder Stop, Strain Relief Clip, Belt Clip & ZPL/CPCL	RJ4250WBL	65	\$535.00	\$34,775.00
2	Brother - 1-Year Premier Service Extension (3 years total) Comprehensive coverage protects the printer from all on the job accidents - Accidental damage to internal and external components that occur during normal use - 2 day turnaround repair time from receipt of the printer - Includes parts, labor & cleaning	207801-001	0	\$47.00	\$0.00
3	Brother - 3-Year Premier Service Extension (5 years total) Comprehensive coverage protects the printer from all on the job accidents - Accidental damage to internal and external components that occur during normal use - 2 day turnaround repair time from receipt of the printer - Includes parts, labor & cleaning	207803-001	65	\$130.00	\$8,450.00
	Docking & Power				
4	Brother - Active Docking/Mounting Station with Power and USB Connectivity For RJ4200 Series	PA-CR-002A	65	\$138.00	\$8,970.00
5	Brother - Car Adapter - Wired - 14 Foot Length	LB3692	65	\$22.50	\$1,462.50
	Accessories				
6	USB Adapter Cable - 10", 90deg USB-Mini 5B Male/USB-Mini Fem	LBX026	65	\$13.00	\$845.00
7	C2G Ultima USB cable - USB (M) to mini-USB Type B (M) - USB 2.0 - 10 ft - molded - charcoal gray	29652	65	\$6.00	\$390.00

 Subtotal:
 \$54,892.50

 Tax (.0000%):
 \$0.00

 Shipping:
 \$0.00

 Total:
 \$54,892.50

CDS Office Technologies disclaims any responsibility for product information and products described on this site. Some product information may be confusing without additional explanation. All product information, including prices, features, and availability, is subject to change without notice. Applicable taxes & shipping may be added to the final order. All returns must be accompanied by original invoice and authorized RMA number within 30 days of invoice date and are subject to a 15% restocking fee. Due to manufacturer serstrictions, Panasonic items are not eligible for return. Late fees may apply to payments past 30 days from invoice date. Please contact your sales representative if you have any questions.

STATE OF ILLINOIS)	
COUNTY OF COOK)	SS
COUNTY OF WILL)	

CERTIFICATE

I, KRISTIN A. THIRION, Village Clerk of the Village of Tinley Park, Counties of Cook and Will and State of Illinois, DO HEREBY CERTIFY that the foregoing is a true and correct copy of Resolution No. 2022-R-001, "A RESOLUTION APPROVING THE PURCHASE OF POLICE INVEHICLE PRINTERS FROM CDS OFFICE TECHNOLOGIES IN THE AMOUNT OF \$54,892.50," which was adopted by the President and Board of Trustees of the Village of Tinley Park on January 4, 2022.

IN WITNESS WHEREOF, I have hereunto set my hand and affixed the corporate seal of the Village of Tinley Park this 4th day of January, 2022.

VILLAGE CLERK



CONTRACT AND DOCUMENT APPROVAL CHECKLIST

Ordinance/Resolution No:											
Exhibits Attached: Yes No											
Contracting Party/Vendor:											
Contract Contact Info:											
Bid Opening Date (If applicable):											
Mylar (Rcvd by Clerk's Office): Y/N – Date Sent for Recording: Date Recorded:											
Certificates of Insurance Received: YesNo											
Contract Expiration: Date:											
Signature of Contracting Party re	ceived: Yes	Date:									
Staff Review	Date:	Approved Via:	By:								
Attorney Review:	Date:	Approved Via:	By:								
Village Manager Review:	Date:	Approved Via:	By:								
Committee Review	Date:	_Committee Type:									
Committee Approval	Date:	Committee Type:									
Village Board Meeting:	Date:										
Village Board Approval:	Date:	_Approved:	Denied:								
Notes:											